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Explain the modern approach to consumption under

uncertainty.
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Clearly indicate the section when answering any

question.

Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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(a) Answer the following :

(i) If you have earned $15000 per year for

the past 10 years what is your permanent

income? Suppose that next year (period

t+1) you earn $20000. What is your

permanent income?

(ii) What is your consumption this year and

next year?

(iii) What are your short-run MPC and long-

run MPC?

(b) What are the two main theoretical objections to

the Barro-Ricardo view?
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How are the equilibrium real wages and level of

unemployment determined in an economy?

v*, il$qegr + qr<Rq, qR$ g]r: AM * wt w vgm

++ fulR{ ftqr vnr l?

What are the similarities between the life-cycle

hypothesis and permanent-income hypothesis? How

do they differ in explaining why the long run marginal

propensity to consume (MPC) is greater than the short-

run MPC?

*+<-trm cR*tr{r *t elrft- inc cRqff{r d *q er
qclq-dr{ l? t qr rrrsr* + +i ft-q I fr Affi tud
Bs*rr ngft (MPC) qersB scfre t i{tuc' d *?

Suppose the permanent income is calculated as the

average of income over the past 5 years that is :

YP: (Y+Y l+Y 2+Y r+Y 4)
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sECrroN A (<is S)

(Attempt any 5 questions out of 7.)

(z # * alf s Yw dd dtuv)

Dcrive the aggregate demand curve fronr the IS-I-M

schedule.

in{qs-cdvq s-ggff + vr{ qr.r qm rt< qlfusl

How does a fixed money wage influence the

aggregate supply schedule? Explain with the help of

a diagram.

w fitu{ *F*, r-d-$ tr{ n{t s-1qS ei *+ vqrBf,

o'.(ff *? v6 i[fr€ fr qEr.rdr t qrrar{'r

Using the Phillips curve, explain the relationship

between inflation rate and unemployment rate.
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6 73ll
4

5

I

2

6

3

1
5

C = O.9YP

P.T.O.



73tt 4

4. Explain u'hy rational expectations are the most

accurale expectations.

ffi{Ea ft E-+fffi Brifrr( (-e+ TA6, sqs{r{ uir- *r

How do liquidity constraints and myopia influence

consumption behaviour?

F.rdr fr q'ff d( fl-{Gff gq+rr q{ER * ++ yqrkd u,r+

*?

6 How is the monetary policy related to residential

investment?

dA-6 ffft il-sffic frt{r t *t {-ctud t?
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sECrIoN B (l?ic d)
(Attempt any 5 questions out of 7)

f7 + + 6H 5 vga 66 fifrs/

The real trade-off was not between inflation and

unemployment but between unemployment today and

unemployment in the future. Explain.

arwho ann-rgil{ T{'dR *r tM + ftq rfi qr,

qtu'$rq d tM *t mq * ?im{rrt * frq qr
qrqr fifrqr

Explain how an increase in the money supply and

rising government spending affects the economy when

the price level is flexible.

q€ qwEt ft we Td.r Kr E+dr +dr * fr gar ar$ {
Ek sh q.d+ {r6rft 6{ irfqqen d di crilBo 6t+ *r

What are the general characteristics and criticisms of
the theory of rational expectations?

rdq{rr stqrfr + ffi{ d qrqrq frisrd *r sffi
qT;?
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7 What happens when relatively low levels of investment

persist lbr many years in an economy like India?
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